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Exercise (1)

[1] Complete :

1) Rational DUMDEr I8 i assvvi Sresians vsssneiiseasssiasasss

2) The S8t OF IRtEREr TN s s ansssvssamsssins s shuashpsss

HIf ;i is rational then b #
)

4" 3 i b a5
4) The number — is rational if x #
5 o -

X+S5 . z 4 :
5) The number L,% IS TtONAl 1T X i G s raviiva s mdasvivis

: S—-x
6) The rational number ——
x>

. / ’ .
7) The rational number £ is an integer if
; 2
)

8) Express of .57 as rational number is simplest form

. . A . .
9) The rational number 7 18 NEGALIVE if X .ovcuivsviones Zero .
{ . .
10) If ; is rational number and ab = zero then a =
)

11) Write the rational number l7l as decimals ............c.....

Do) sl 1} (V) ol ) aesi G
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Exercise (2)

[1] Represent each of the following on number line :

Wy = 1 a1
a) < b)l5 c) 5

Exercise (3)
[1] Complete :

1) The additive identity elementin @ iS ......oooiiiiininnnnn

o I
2) The additive inverse of number - 1S5 ik ake Ty

[2] Write the correctsign (< , > , = ):

a) Every positive rational number ................. Zero . 3) The additive inverse of (:7,- aiss | RS
3
b) Every negative rational number ................ zero . 4
13 l 4) The additive inverse of | == | is ..coooeiiinnn
3y =L 5
o —— 6. :
% 5) The additive inverse of number zero
-9
d) AR -3 6) The additive inverse of = 0.5 1S ........oevennn.
op 1S ! 7) The remainder of subtracting 1 from & =
L)l = I .......... 7 = 5 5
DO s 0.5"° 8) The remainder of subtracting % from 1;
-3 . e
g | Y ol 2 9) The remainder of subtracting —= from zero
7
[3] Write two rational number lying between : 10) A + 3 =Zero then A =
I 4 -1 4
)3 and < 2) - andl 3)0.3 and < IDIF(A+ l ) is additive inverse of number : then A =
|4| Con]ele[c: & . Y=3 andZ =4 then ;\-:— - ; =

1) Between each two successive integers there is ..............eueew

. . ' 1 5
2) The opposite rational number 3 on number line ..............

- : 5
3) The number of integers lying between ; and % BIC s

[5] Write the rational number that equal % and the sum of terms 28 .

Nssddsle 1 ] (v) ool ) aeesd 500 H3sd dsle 1
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b) 7L & (-11
4 4

[41IfX=>,Y=
6

a) X +7Z

CO(X+7Z)

dH(X+Y)-Z

A39) dsle 1 P ol wess 62
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Exercise (4)
[1] Complete :

1) The multiplicative identity of the rational no. is ..............

2 gs e 3.

2) The multiplicative inverse of no. S 18 enecnnennnnn.
SCgRi e -3 >

3) The multiplicative inverse ( = il T SNy SR

’ s a-1 5 g s . X
4) The rational no. =3 has multiplicative inverse if a=
5) The rational no. has multiplicative inverse is ..........ccoouens

(2
))3

[2] Using properties of following :

DE x7+8 x5+8 1
37 37 37

Assd ke 1 P
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=3 -3 =3
. 5 o =
2) g x 8+ x(7)+(7)x9

Unit Two
[1] Complete :
1) The degree of term 3 X* Y iS ...cooevnnene, its coefficient is ..................
2) The coefficient of algebraic term % XD i and its degree .................
(B]1If X=- 3) The degree of an absolute term in algebraic expression ..........oovvvvvniien
4) -32°b number of terms .............. 1711173 (UM ;OBETeR 18 ... covvsansinnis
| i
a) XVZ 5)5 X'~ 7 X +4 number of terms .................. DB e s vevvvosisy degreeis ....ooveenrnnes]
6) The coefficient of the algebraic term X is .............. and its degree is ...............

7) If the degree of the algebraic term 5 X" Y?isSthenn=................

m+l :

8) If the degree of algebraic term Y™ is the degree of a algebric term 5 X*Y* then

A i b b
Sheet (7)
[1] Find the result of each of following :
1)3X +2X 2)-5a° +3a°
»E.2 H2XY+3YX
[5] Find the rational number lyving at : 5) Subtract Y from -3 Y

3

a) One fourth of way between ; A _7 6) What is increase of 3a’ b than a® b is ?

7) What is decrease of — 3ab than 2ab ?

g 8) Find the sum of :
b)Onctcnlhofwuybclwcch.—5~ a) 3a-4b+6¢c b) 3a-7b-5c+2 ¢) Sx+2y-z+2
Sa+6b-2c -a+4b+c-35 Tx+y-32+3
2x -5y +4z-1
H3s) dsle 1 P ol ey 6
N39) dsle 1 P (V) Chasls Y wess 00

.
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[2] Find the sum of following :
1N3X-2Y , X+2Y-2
2)2a°b-3ab’+b' , -a’b+b*

DIX=-4X2+ X2 , X2 -6 X2=6X+5,TX+4=-X

[2] Find value of K :
DERX+Y ) =4X"+KXY+Y thenK=
DIFX-Y)2X+Y)=2X*+KXY-Y thenK

N(X-3)(X+3)=X*+K thenK=..............
3] Re p 0! ollowing :

1)5X-3X2+4-7X*-6X-1 [3] Find numerical value of following :
2) 6 XY — 4 XY? + 2XY?*- 5X°Y + 2X*Y? If X=1, Y=-2
3)5X*-2X+8-7X-3+X? DRY+7)(3Y+4)

4) —a’ - Sab + 4b* - 2 - 3a® + 2ab - 2b*- 7 2)(X+4)(3X +2)

Shh " 3HGBX+Y)(X+3Y)
sheet (8)

[1] Simplify : . .
[1] Find the quotient :
B A ©, Sk ) E e, K n :e Hoten
a) I8a
2)a(a-2)= s —
3 e, O ) | Ty )% S e, T SRR

)T =T Y5 s oncsmcsdB e cnsmemensses B '3""‘+f6""
L A o, RG> 4 G b I SIS 2m
GLmM (L -3mL-4m’) =

DOR+A)C2X AT ® . crvvisarensrssans ¢)

B BX+1)(3IX+2)=.ccciiiiiiiviniiannnn

3a

48 X* - 80 mx*
X

DX S CIE =YY & vicusieesothidossisons " XX +36X
10) L= YEX FE ) 3o vrnirsvisnestboiin
IN(2X+Y )=

4X?
O2X +13X+15 byX+S5
NX'-27 byX-3
g)3X' —4X+1 byX-1

12) (4 X +5Y ) =
13) 3 (M =8 ) (MF2Ymisvuiitsraserivaiivevs
VLY U o G 1) o SRR ——

i ; § ) h) If area of rectangle is ( 2X* + 7 X ~ 15 ) and length is ( X + 5 ) find perimeter if
15)(2X"+3)(X°=-5)-(3X*+2)=

X=3cm.

A9 dsle 1 P (A)

A3 dsle 1 P (%) ool wesi Gan




General Revision Algebra Grade one preparatory Second Term

General Revision Algebra Grade one preparatory Second Term

Sheet (9) [2] The following table shows the number of hours that . Ali and Ahmed study daily in
Factorize by identifying the H.C.F : a week .
a)3 X*+6 X i
b)35a+10a’ ~ Ahmed
A)3X*+12X-6 ‘
d)8Y*-4X? a) find mean of studying hour for each Ali , Ahmed
e)3X(a+b)+7(a+b) b) Find median of each of them .

N3IX(X-4)+4X(X-4)+3(X-4) ¢) Find mode of hours of each of them .
94Am’ (2X+5Y)-3m(2X+5Y)-6(2X+5Y)
h)y7x123+7x35-7x 18
6x15+18x15-24x 15

Sheet (10)

1) The mode of set Of VAIUES S .cevvverieeriearoasunoasannen
2) The mode of values of 2 , 3,8, 2,9 18 .ivseinssvessssssacossars
3) The modeof values 3,6, 13,19, 19, 1218 ..c.verreesnsonosnes

4) If the mode of values % R % X % ; % is
5) If the mode of values 12,17 ,X-1,7,12 is7then X=....ccevveeeennn
6) If mode of valuesofa+2,a+1.,a+3,a+2 equal I2thena=.........
7) The medianof values 4 , 8,3 1S ...oovvvivinnnns

8) The medianof values 6,5,9, 8108 coovvvvvvinnninnnn

9) The median of values 8 , 17,4 ,6, 10 is ...ocvvvviiinnnnnnnn

10) The medianof values 6,2 , 5,418 .ooiiiiiiiiiiiiniinnnnn.

11) The mean of values 5, 12,6, 17 is ..coccvvvinieninns

12) The mean of values 2, 5,8 ,9,14,28 S ..cccerrerirsocnssaecons

13) The meanof values2-a ,4,1,5,3+a iS.c.cccvvvvniiinnnnns

14) Themeanof values X, X-Y , Y=X 1S cceivrrriiarnennnn

T T N T Do) dole 1 P (VYY) Clob Y a0
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9) If the total weight of 500 grains of salt is 6 > gm, then the

I QlleSlion I weight of one grain = ............... gm. |

a) b) - 0) = d) =2

10000 1000 1000 1000

1) Choose the correct answer from the given: 10) If the thickness of a sheet of paper is 0.012 cm. Then a

1) (x)" = ream of 400 sheets is of height

b) ™ ™ dxn a)48x10°  b)48x107 )48x10° d)48
11) Quarter of 4%= ...............

5 10 19 10
a) zero b) - 0): d)1 a) 4 b) 4 c)4 d) 2

3) If the thickness of a piece of paper = 0.012 cm, then the height
of a sheet formed from 600 pieces of paper = : a) i b) 1, c) - %
a)72x10° b)72x10%? ¢)7.2x10° 13) 0.00000027 =
if:x+3=3, thenx = ........... a)2.7x107 b)2.7x10° ¢)2.7x10° d)2.7x10"

a)b b) -6 c)3 d) zero 14)\/87+_6—2=8+
5) A class contains 20 boys and 15 girls. If a pupil is chosen a)6 ; d) -2

randomly, then the probability that the pupil is a boy = ...........
1 5 P 1 X 3p ; ! i 15) In the opposite figure: m (£ A) =
Vs o s % a) 30° b) 60°

2.37 x 10 agl. J0.....
3 " c) 90° d) 180°
a) 0.00237 b) 0.000237  ¢) 23700 d) 0.0000237
16) The S.S of the inequality -2 <x < 2in Zis

a){-2,-1,0y b){1,0,12} ¢){-2,-1,0, 1) d) {101}
17) As throwing a die once, the probability of appearance of a

8) - (a" . number divisible by 4 on the upper face is
b?

1 1
a) 4 b'a b) 4 b'a? oL a) 3 b) 3

A dsle 1} (\v) A9k 1} (\vv)
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(2) Complete:

_5\2
2) }(T) i .
3) In the opposite figure:

\»
‘h\t& A

C
4) If the substitution setis {-1,0, 1, 2, 3, 4}, then the S.S of the
inequality x + 5<7is ...........
5) As throwing a die once, the probability of getting a number
divisibleby 7 is ............
6) If the probability of success of a student = 0.8 , then the probability
of his failure = ...............

T -2\%,
7) The additive inverse of (T) o .

8) The multiplicative inverse of Jgis ............

9) (2) +(3) = o

12) V16 4+ 9= .....covuune.
13) On tossing a fair coin once, the probability of appearance of

ALY aesd 650
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3) Simplify:

2ab~2)°
B e

(=2)°x(-2)*
o (3 =

(4) a) Solve the equation: 8x + 4 = 20 , where x € Z .
b) Solve the inequality: 2x + 3 23x -1, where x € Q
a) FindtheS.Sof: 2x+4 =10 inQ
b) Solve the inequality 7x —2x+1<16 inZ
a) Solve the equation: 2 (3x — 3) + 2x = 74where x e N
b) Solve the inequality: -3x-1<5 wherex e Z

(5)

a) The age of Ahmed equals three times the age of Hany and
the difference between their ages equals 10 years. Find the
age of each of them

(b) The length of a rectangle is twice its width and its surface
area is 24.5 cm?, calculate each of its length and width.

(c) If three quarters of the surface area of a square is 1 ﬁ m?,

calculate the side length of the square.
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(6)
a) In an experiment of throwing a fair die and observing the apparent I MOdel Answers I
number on the upper face, find the probability that the number is:-
a) odd b) divisible by 5
(1) Choose the correct answer from the given:
b) A bag contains 4 red balls, 3 white balls and 5 blue balls, a
e 2)1 3)c
ball is drawn from the bag randomly. Calculate the probability
; 4)d 5d 6) b
that the drawn ball is:
1) Red 2)notblue  3)green e L e
10) ¢ 1M)c 12) b
¢) A card is drawn from a bag of 25 cards numbered from1 to 25.
i _ 13) a 14) b 15) b
Calculate the probability that the drawn card carries.
a) number divisible by 5 10)¢ e
b) number > 20
Q (2): Complete
¢) a perfect square number
1) 10
215 =3
3) 15°
4){2,1,0,-1}
5) zero
6)1-08=02
-4
L
8) 2
9) -
Hssddse 1}
Hssddsle 1 ] (V) Aol eed 0
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M Alg.
-3 [1] Complete :
10) 8 3-x ; i
a) s D I P s
b & 4
M)m=-4 b) The degree of the algebraicterm 6 X7 y'  iS...ccivveeeieieneeearnnn
12) 5 ¢) The additive inverse of the number | -: I |
13) 1 d) -8X exceeds 5X by
)3 &) (12X A XYV K i = 6x'.
14) -1 [2] Choose the correct answer :
1) fxn:l TheR Dot
Q (3): Simplify: 4
a) =
a) - i
6 2) The rational number
b) £ a) o
b 16
e
0 (é)- " L 3 = is a rational number then
; 25 a) zero b)-3
d) 1 4) Express l41 as a decimal
a) 0.36 b) 0.363 & d) 0.036
Q(4) ) HEnd Then: Su-2¥siiimmontis
¥ o
a) S.S = {2} 5

2 5
a) < b) = )l d) zero
b)SS={x:x€Q,x<4)} : 2
[3Ja)Add: 3x-5y-6and 3y+2x+5
c) S.S = {3}

b) Use distributive property to find : ; x 11+ ; x8- ;
d)SS={xx€Q,xs3)} ¢) Thelengthof arectangleis Sx ¢m  and its width is 3x c¢m . calculate its area .
e)SS=QinN

a) Subtract : x* +2x-5 2x*-3
S.S={x:x€0,x>~2) [4] a) Subtract 6x° +2x from X x+4

b) If a=r}.b=-i find the value of (a+b)=(a-b)

-

¢) Find three rational numbers between :

A9 dsle 1 ] (\A) Aol eesd G2

Assd oo 1 P (Y.)
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(3) Simplify:

(2ab~?)°
3%~

b)

(=2)8x(-2)*
93 9 =

(4) a) Solve the equation: 8x + 4 = 20, where x € Z .
b) Solve the inequality: 2x + 323x-1, wherex € Q
a) Findthe S.Sof: 2x +4 =10 inQ
b) Solve the inequality 7x =2x+1<16 inZ
a) Solve the equation: 2 (3x - 3) + 2x = 74where x e N
b) Solve the inequality: -3x-=1<5 wherexe Z

(5)

a) The age of Ahmed equals three times the age of Hany and
the difference between their ages equals 10 years. Find the
age of each of them

(b) The length of a rectangle is twice its width and its surface
area is 24.5 cm’, calculate each of its length and width.

(c) If three quarters of the surface area of a square is 1 (t—: m?,

calculate the side length of the square.




